33 0-4-0 ELECTRIC 1913-1924

38-42

binding post bell stanchion strap headlight
assembly *
072BR x 12" —
handrail
stock —r——
432C
bulb
33P i
made by
plate \k |
|
~ Il cBc-3
33-14 | combo
hook E& J coupler
coupler i
A
— ‘{H} r
T,

super motor n35 ~ Mmotor 33—IG 33DW
pickup step P;;':P idler gear drive wheels

33 WIRING DIAGAM

HEADLIGHT

163 dk green
10 peacock FRAME
33 olive green
8 It olive
260 gloss black
42 gray PICKUP SHOE
380 maroon
217 red

OLSEN'S TOY TRAIN PARTS HTTP-//WWWW.OLSENSTOY.COM 1/206

3-23-00



33
Bell-3
Con-1
Con-4
Con-8
Con-11
Con-12
H-9
M-6
M-7

M-9
M-13
M-19
M-23
M-30
M-31
M-45
M-46
M-47
M-48
M-49
M-350
M-31
M-52
M-33
M-38-63
M-60
M-61
M-62
M-63
M-64
M-65
M-66
M-67
M-68
T-69
T-70
S-L-44
S-L-72
33-5
33-9
33-14
33-23

33 Loco & Motor Parts List - 1922

locomotive body

bell complete

controller

switch handle

controller washer
controller spring

brass contact cups
headlight complete

1-5/8 no 4/36 RHIM screw
long spacer

short spacer

field pole complete

field coil complete

steel pinion

armature complete
commutator complete
commutator fibre washer
brush strap

brush tube

brush tube cap

Vi no. 3/48 RHIM screw
copper gauze brush
brush spring

brush tube insulation
brush holder rivet
carbon brush

shoe complete

3/16” no. 4/36 RHIM screws
4 no. 4/36 RHIM screws
shoe brace ins. Piece
shoe brace washer

shoe tension springs

shoe only

shoe brace complete

shoe brace ins. Bushing
shoe brace metal washer
8/32 hexagon nut

6/32 hexagon nut

loco wheel axle

1/8° no. 4/36 FH iron mach. Screw

step
side perforation
medium coupler
pilot

OLSEN'S TOY TRAIN PARTS

HTTP//WWW.OLSENSTOY.COM

1/207

3-23-00



33-16
33-17
33-20
33-21
33-23
33-24
33-235

33-27-32

33-30
33-31
33-33
33-34
38-17

33 Loco & Motor Parts List - 1922

wheel ring
name plate

frame side and bearing right complete
frame side and bearing left complete

small cowcatcher
cowcatcher rivet
steel pinion
wheel with gear
rubber tube

wheel plain
3/8 no. 6/32 fil RHIM screw

interior light connection insulating bushing

name plate

OLSEN'S TOY TRAIN PARTS

HTTP//WWW.OLSENSTOY.COM

1/208



